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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.
This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.
In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.

An additional 15 minutes time has been allotted to read this question paper only.
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PART -1

In which one of the following cities did the European powers meet in 1885 to divide
Africa between themselves?

(a) London (b) New York
(c) Berlin (d) Amsterdam
OR

The person who got people from village, ensured them jobs, helped them settle in cities
and provided them money in times of need was known as :

(a) Stapler (b)  Fuller
(c) Gomastha (d) Jobber
OR
Town planning in Bombay came up as a result of fear of :
(a) Social revolution (b) Plague epidemic

(c) Fire (d) Over crowding

Which one of the following countries has an effective right of veto over IMF and World
Bank?

(a) India (b) The USA
c¢) Srilanka d) Japan
p
OR

Production processes involving carding, twisting, rolling and stapling are associated
with :

(a) Textile Industry (b) Railway industry
(c) Shipping industry (d) Glass industry
OR
The first movie in India was shot in 1896 by :
(a) Dada Saheb Phalke (b) Harishchandra Bhatwadekar
() Raj Kapoor (d) Prithviraj Kapoor

In England books carried by petty pedlars and sold for a penny were known as :
(a) Shilling series (b) Almanacs
(c) Chapbooks (d) Novels

OR

Which of the following books of Charles Dickens was first serialised in a magazine?
(a) Hard Times (b) Oliver Twist
(c) David Copperfield (d) Pickwick Papers
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Which of the following books reflects the plight of the ‘lower castes” and poor in India?
(a) Gulamagiri (b) Chhote aur Bade ka Sawal
(c) Sachchi Kavitayan (d) All the above

OR

Kabirlarai (poetry contests) was patronised by merchant elite of which of the following
cities?

(a) Bombay (b) Calcutta
(¢) Madras (d) Banaras

‘Laterite’ has been derived from the greek word ‘later” which means :
(a) Mountain (b) Brick
() Rock (d) Stone

Forests and wastelands belonging to both private individuals and government are
known as

(a) Sacred groves (b) Reserved forests

(c) Protected forests (d) Unclassed forests

Which of the following is not one of the reasons for criticism of multipurpose river
valley projects?

(a) They create a rockier stream bed
(b) They create poorer habitats for the river’s acquatic life
(c) The reservoirs created in the floodplain submerge vegetation.

(d) They help in generation of hydroelectricity

Which one of the following crops is the example of plantation farming ?
(a) Rice (b) Wheat
() Rubber (d) None of these

Which of the following is an example of horizontal sharing of power?

Power sharing between different states
Power sharing between different organs of the government
Power sharing between different levels of the government

Power sharing between different political parties.
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Which one of the following communities constituted majority in Brussels ?
(a) French Speaking (b) Dutch Speaking
(c) German Speaking (d) None of them

Which of the following is not a subject of the Union List ?
(a) Foreign affairs (b) Currency

(c) Banking (d) Law and order

In which one of the following countries the participation of women in public life is very
high?

(a) India (b) Sweden
(c) Bangladesh (d) Pakistan

In terms of human development, which of the following countries is ahead of India?
(a) Bangladesh (b)  Srilanka
(c) Nepal (d) Bhutan

Development goals of different sections of our society can be achieved by
(a) Force (b) Democratic political process

(c) Violent agitation (d) Terrorism

Which one of the following activities does not belong to the primary sector?
(a) Agriculture (b) Dairy
() Mining (d) Weaving

Which of the following is also known as disguised employment?

(a) Over employment (b) Factory employment

() Under employment (d) Unemployment
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PART -1I
What is G-77 ? What were its demands 1+2=3
OR
What led to expansion in handloom craft production between 1900 and 1940? 3x1=3
OR

Throw light on some of the land reclamation projects of Bombay. 3x1=3

How did print introduce debate and discussion? Write three points. 3x1=3
OR

Why did novels become popular among women? Write three points. 3x1=3

Why did the new technology not entirely displace the existing art of producing books
by hand ? 3x1=

OR
How did novels make themselves relevant to young boys? 3x1=3
By the end of the 19th century a new visual cultural was taking shape. Explain. 3x1=3
OR
How does the novel Pariksha Guru reflect the inner and outer world of the
newly emerging middle classes?

Explain any three steps that can be taken to solve the problem of land degradation? 3x1=3

With the help of three examples show how communities have carried out conservation
of flora and fauna in India. 3x1=3

How have industrialisation and urbanisation aggravated water scarcity in India?

Which policies of the Sri Lankan government have led to the feeling of alienation  3x1=3

among Sri Lankan Tamils?
Explain the statement ‘we have different identities in different contexts’. 3x1=3

Taking the example of Carlos, Smith and Norman explain how social differences divide
similar people from one another but also unite very different people.

How does the constitution of India ensure secularism?
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How does the World Bank classify different countries? Is it an adequate indicator? 2+1=3

What do you understand by sustainability of development? What are scientists” views

on sustainability of development? What can be done to make development sustainable?
1+1+1=3

Write three provisions of National Rural Employment Guarantee Act 2005. 3x1=3

Differentiate between sectors on the basis of ownership with examples. 2+1=3

How did the global transfer of disease in the pre - modern world help in the colonisation 4
of the Americas?

OR
Throw light on production during the proto-industrialisation phase in Europe in the
17th and 18th centuries with an example.

OR
“The function and the shape of the family were completely transformed by life in the
industrial city of Britain in the 18th Century.” Explain any four points. 4x1

What are the soil type, climatic conditions and rainfall conditions required for the
cultivation of tea? Write two states of India where tea grows. 3+1=4

How has the third tier of government in our country been made more effective and
powerful by the constitutional amendment of 1992? dx1=4

Write two groups of people working in unorganised sector who are in need of protection.
How can the government protect them? 2+2=4

Three features with serial number 1-3 are marked on the given political map of India.
Identify these features with the help of the following information and their correct
names on the lines marked on the map 3x1=3
1. Soil Type
2. Major producer state of Sugarcane
3. Major producer state of rubber
OR
Locate and label the following items with appropriate symbols on the map
(i)  Sariska Wildlife sanctuary
(i) Tehri Dam
(iii) Major producer state of Maize
OR
Note : The following question is for the visually challenged candidates only, in lieu of
Q. No. 36.
36.1 Name the major producer state of Sugarcane
36.2 Name the dam on R. Mahanadi
36.3 Name the Tiger Reserve in Kerala
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-1

frefafaa # @ fvg st § 1885 H g wifeal oo o o1t & faurs & fere facft off 2
(a) T (b) A (c) dfefd (d) THEREH
sreraT
ag afad St Wid @ AN T AT AT, S 19 fIA™ T ARG T o, IeX H o9 H Teg < o iR
STETIHhT TS TR & T AT o, Tl ST ST o -
(a) W=R (b) PR (c) TR (d) iR
sreraT
FEE | TR IS 39 99 o YRomY ¥ 3T off-
(a) @IS Hifd (b) T HEER
(c) &m (d) o offevTs

frefafed & @ fha <91 % T STadga g1 o iR fave S § el &1 gemaenel sfusr § 2
(a) 9@ (b) HIH T THER
(c) i (d) SmaH
rerEr
IS UTHAT HITEn, TS o shdle 3R AU TraIfed ¢ -
(a) THIJUMH (b) &AM
(c) STRISHHI J&M 4 (d) wH=IETH
arerar
1896 H ARG H Ugel YT (TATTH) I HAL  FR SAN T AT
(a) <1 RS Wiesh (b) TIYE= HATCaTSH

() T+ (d) YRS FR

grie U Hlaral & g Tk U9 U faeh arelt frdrel ol el S o
(a) Hiell €S (b)  STAAT=HY
(c) =TIH (d) ST™
&oel)
freAfafed 8 @ a1 @ s 9cd fesh~a &1 Teell uraes afah off ?
(a) @S I (b) AR e
() <fae wMwics (d) Tumfaew Tod
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frefafed § & 9 7w arRa # 191 St 3R 16l & g 1 g9t € 2
(a) AN (b) B RIS F HATA
(c) T Higand d) SRE Gt
YT
e e (hforar FfaARTar) =1 fohd e o oSy (Feiid) ATRET 1 H&I0 Y16 o1 2
(a) EISENI
() wE™ (d) wARE

‘reuge’ ek aT & v ‘o’ 9 foren e ©, forgen e ® -
(a) e (b) =
() I (TgH) d) TR

T SR SI5R Y < GEhR, AlHAT SR el & @Wiffa B e § FR IH € -
(a) dfes SqaA (b)  eTferd =
(c) exd = (d) Tt =

frefafed § & o1 ag3eeia 71 = URESHIeT ®i STe=HT 1 T&h SR T8l § 7
(a) T IS 1 qa Ay T & S B

(b) 3TY T et Sra STemdl | WIS S AT S S 7 |

(c) 9T % HEM I ST Tl STl gl HIS[g o et el § g9 St & |

(d) T SafoRd & Scaed § Aed fuerdt T

frefafead & @ 9 9 wO J997 FT FT S T 2
(a) MEA (b) WX
(© (d) =R

frfafea § @ #F 90 %1 &fas 9Ee F1 T IR 1 2
(a) fafv= Tl & <9 e &t 9ERl

(b) FRR o fafss Tl o o= <1 S 9Ee

(c) HHRF foaxia Tl & o= 9 &1 dEeh

(d) faf Tomfas gal & ot o+t e
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frefafed § @ w1 w1 wee dfesad § agad § 82
(a) T o (b) =T Wl
(c) ST Tt (d) T 9 =E T

frefafad 9 @ #9 %= (F9) g 1 fowz 78 872
(a) foceil A (b) HE ()
IE: (d) A SR e

frefafed § @ g <o o g Steq § fomil &1 ariiekt sgd s § 2

(b) iRt
(d) ¥

TR Tar § fafus o & faem@ & e & g i foe < 9ehd © -
(a) wf® (JAE) (b) ETRAIAER TSIaeh UrHaT
(c) fEu= yswA j

freafafea # 9 =9 9@t 55 gafas &5 9 grafd 78 ¢ 2

o o

frefafad # 9 fa T3 IS & 9 9 ST ST © 2
(a) 3Tfd ISR (b) FREHMI ISR
(c) 319 ISR (d) SR
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HIAT - 11

S1-77 1 S R ? TTR! A A off ? 1+2=3
AYAT

1900 ¥ 1940 & = TUHT HIS o ST | f9R (Fg) & 1 HR 9 ? 3x1=3
AAAT

arerg o Y fosm afEsmst © et sifan | 3x1=3

Tev (BHEM) ¥ faai & =Avs JoR - JER IR 958 & gR 59 7R go ? 3F foget A

‘%rf@'q | 3x1=3
3gar

i@l & fa 3T=Imd frd gohR Ay g 9 ? oA fogsti # fafaw | 3x1=3

TR T T G fohaTsl BIT T deheish i T8 TA T 1 T80 of IS ot ? 3x1=3

AYAT
ST fhd YR Tagae Teahi o fog diefe o 92 3x1=3

‘19 off Gt & 31d dh T T8 99 G&hid &9 o W off' Ty HifSw | 3x1=3
3AAqAT
o TR TeN-T% @ 79-fAfHa qemant #i efeet 3R Smed gian &1 aa1 9 § ?

ofty feftensor st IHE o WY o fau 1S fF 3l 6l T8 SIS | 3x1=3

T 3SR T Aeg ¥ FaqEy foh Seafasmd SR Wi & GReiv & folt 9qer =1 9reH ©
BE? 3x1=3

afreiientor SR RdHr YRd § S 1 gl % Ty fh R S (FRe) €2 3

sficisht TR 1 Tt Aifall & FRor sficies & aftell o sterme st e U7 g8 oft ? 3x1=3

W HeY A BN TEEH STA-STAT € | 39 YT i TIE HIT | 3x1=3

FHeird, Ty I AT 1 ST THT T¥ HIfST fh 9 TR e fafead s 3
TN Rl ST TR <] & AT 3Tl ThR & @ 9 faer 2t € |

IRG 1 Hiae srfRae w1 fmg yer gifed & €2 3x1=3

fawa S faf're TR % S 1 SFTen ] ¥l Ll © 7 91 I8 U SHfad Sehde ¢ 2 #|l 2 2+1=3
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faema 1 IROTIAT | 319 =1 GHEAd § 2 ekl i aRoidr o fawa o = g € 2 foash &
RO s & foe 41 foran S gehar € 2 1+1+1=3

Y TTHOT SR RO, 2005 ATIH & 09 JEae™ 9dq=e | 3x1=3

3SR i AEE O WEHE & 3MUR W &FAh] o HET T HIfWT | 2+1=3

Ta-3mgfen fova § Sl & Sfvaes TER T STHie! url o SUeeie | ffe TR 4
d ot |
3AAqAT
17 off 3R 18 off wSt & A9 H T SAeinfienor & =01 § gHaTel Icaed W YT Sy
AT
18 off Tt § foreq & STeNfiTes wIed & Sfia 3 9fari & TR IR H1al 1 I8 T s faan o,
I3 =R fagel # = FfT | 4x1=4

T % IS % U T hT YRR, Ferary UNE 7R oot ki feafa it wn siftemdand € 1 v
% 2 T o A fafed sl = %1 e gt 7 3+1=4

1992 % W WA G TR A W F AR G (A F Ao et AR
qTehde 3R] o1 TR & 2 T

37 S Rl % AR | fafew S sied & H wrE@ © SR S HeeTl i STawedl § | 9

2+2=4

Toh] G0 fohd JohR Y Hehdl © 2

fou T R % TS Y aEtE § 1@ W) 3 e i @ Sfshd fRg e € 1 e < i
MR & 7SS ° % TSAIU IR 3k Hal 919 e § < T8 yansti ® fafa - 3x1=3
(1) H<T 1 TR
(2) T H TG IAGH 5T
(3) TR H1 TE SRE T
JroraT
feu e 9Ra &% Terfass e aefes | frefafea o feafa sfaa fa=i & aem @ gl
(i) TR o= Sfie TR0
(if) fedt =nier
(iii) TR P TG SARH 5T

e : fAfafad v waa gedn st & fau w 9 36 & wWH W -
36.1 = % Y@ IUEH 159 1 A Fasy |

36.2 HEMSEl W o oY 1 A IdET |

36.3 I & ISR RSd &1 A @Ry |
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